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ENGLISH VERSION

Instructions :

(1) All question are compulsory.

(2) Figures to the right side indicate marks.
(3) Working note is a part of your answer.

1  Palak Ltd. provides the data for March 2022 : 20
Particulars Budgeted (Rs.) Actual (Rs.)
Material 8,00,000 10,20,000
Labour 5,00,000 6,50,000
Repairs (Rs. 2,00,000 fixed) 4,00,000 4,40,000
Supervision (variable) 1,50,000 1,90,000
Factory rent (fixed) 1,00,000 1,00,000
Depreciation (fixed) 2,00,000 2,00,000
Tools (variables) 50,000 60,000
Power (variables) 3,00,000 3,60,000
Administration (fixed) 5,00,000 5,30,000

The department has 50 identical machines. During
March-2022 the budgeted and actual production of the department
are 20,000 and 25,000 units respectively. If the department was
closed and the machine production service hired the cost will
Rs. 150 per unit.

Prepare report of cost centre, profit centre and responsibility
centre from the above data.

OR
1  Find out the missing figures for investment centers. Explain why 20
there is a difference between residual income and return on
investments to the manager of investment centers :

Particulars For Department | Department | Department
Unit (Rs.) X (Rs.) Y (Rs.) Z (Rs.)

Operating profit | 2,10,000 40,000 90,000 1,60,000
Capital 20,85,000 4,00,000 6,25,000 8,50,000
Expect return

10% on capital | 2,08,500 40,000 62,500 85,000
Residual income (7) (7) (7) (7)
Return on

investment (7) (?) (?) (?)
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2 Following information is available regarding process-III :

(1) Opening stock of process-I1II 1,600 units at Rs. 20,600.
(2) Transfer from process-I1I 42,400 units at Rs. 3,29,200.

(3) Transfer to process-IV 38,400 units.

(4) Closing stock of process-III 4,000 units.

(5) Units scrapped : 1,600 units.

(6) Direct material added in process-III Rs. 1,58,080.

(7) Direct wages Rs. 78,080.

(8) Production overhead Rs. 39,040.

Degree of completion :

Particulars Opening stock | Closing stock Scrap
Material 80% 70% 100%
Labour 60% 50% 70%
Overhead 60% 50% 70%

The normal loss in the process was 5% of production and scrap
was sold at Rs. 3 per unit. FIFO method of inventory is used.

Prepare :

(1) Statement of equivalent production.

(2) Statement showing cost for each element.
(3) Statement of apportionment of cost.

(4) Process - III Account.

OR

2 From the following information, Prepare :

(1)
(2)
3)
(4)

Statement of equivalent production.
Statement showing cost for each element.
Statement of apportionment of cost.
Process cost account for process A.

(i) Opening WIP stage of completion 2,000 units and the
total cost are :

100% materials cost Rs. 7,500
60% labour cost Rs. 3,000
60% overheads cost Rs. 1,500

(i) Units introduced 8000

(i11) Transfer to next process 8000 units.

20

20
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(iv) Closing Stock-2000 units.
Stage of completion :
100% materials
50% labour
50% overheads

(v) Cost incurred during the period :

Rs.
Material......coooooveviiiinnnnnnnn. 1,00,000
Labour.........eveeeeeeeeieieieieinnnns 78,000
Production overhead ........... 39,000

3  Alpha Ltd. have received an enquiry for the supply of a 2,00,000 15
numbers of special type of machine screws. Capacity exists for
manufacture of the screws in the company's Unit No. 3, but a
fixed investment of Rs. 60,000 and working capital to the extent
of 25% of sales value will be required if the job is undertaken.

The costs are estimated as follows :

Raw-material — ..........cccueee. 10,000 kgs at Rs. 4.80 Per kg

Direct labour hours................. 18,000 labour hours of which 2,000
would be overtime hours payable at
double rate

Labour rate  ...cccoeeeieennnen. Rs. 1 per hour

Factory overhead ..................... Rs. 1 per direct labour hour

Selling & distribution costs ...Rs. 23,000

Material recovered as scrap at the end of operation is

estimated at Rs. 4,000.

Prepare a statement indicating the price to be quoted to the
customer if

(1) The company expects a net return of 25% on capital
employed.
(2) The company wants to have a profit 40% on conversion cost.
(3) The company wants to earn a profit of 20% on sales.
OR

3  Giga Ltd. has proposed the following estimates of working 15
result for the year ending 315t March 2021, for the purpose
of preparing the budget of the year ending 315t March 2022.
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(1

(2)

3)

(4)

Details for the year ending 31-3-2021.

Direct material.............. Rs. 16 per unit

Direct wages ................. Rs. 40 per unit

Variable overhead.......... Rs. 12 per unit

Selling price.................. Rs. 125 per unit

Fixed coSt ccovveunnnnnnnnnneee Rs. 6,75,000 per annum
Sales e Rs. 25,00,000 per annum

During the year ending 31-3-2022 it is estimated that
material price and variable overhead will go up by 10% and
5% respectively. As a result of reorganization overall labour
efficiency will increase by 12% but the wage rate will go
by 5%. Fixed cost also increased by Rs. 1,25,000.

The technical director states that the same level of output
as obtained in 2020-21 should be maintained in 2021-22
also and efforts should be made to maintain the same level
of profit by suitable increasing the selling price.

The marketing director states that the market will not absorb
any increase in the selling price. On the other hand he
proposed for advertisement expenses and in that proportion
will increase sales is as under :

Advertisement expenses(Rs.) | 80,000 | 1,94,000 | 3,20,000 | 4,60,000

Additional units of sales 2,000 4,000 6,000 8,000

Calculate :
(1) Present income statement for the year 2020-21.
(2) Price and profit as per technical director.
(3) Impact of advertisement and profit as per marketing director.
(4) Profitability statement for budgeted year.

4  Write short notes : (any three)
(1) Importance of productivity Accounting method.
(2) Four pillars of cost management.
(3) Productivity and value added concept.
(4) Functions and importance of management audit.
(5) Objectives of cost management.

15
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